ignE]  NAME DATE
T ADDITION OR SUBTRACTION

Choo.se the strategy to solve and explain why you choose that strategy.
Example:

600 - 437 = 163

- 100 - 100 - 100 - 100 - 10 - 10 - 10
600—*» 500 =—*» 400 =—*» 300 =—*» 200 =—*> 190 =—*» 180 —* 17

5 163

Explanation:

| choose the above ‘arrow way’ strategy because.
- It is very easy to understand.
- Subtraction of multiples of 100’s and 10’s are very easy.
- One need not think deeply.

- It is very simple and saves the time.

1) 808 - 597 =
-100 -100 -100 -100 -100 - 100 +3
808> = = = =

Explanation:

| choose the above ‘arrow way’ strategy because.
- In this strategy there is no much difficult to think deeply.
- 97 is near to 100.

- If we subtract 100 and add +3 the process is exactly correct.

- It is also simple and saves the time.
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